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Cluster: 0055 ptr; resid: 0.36; r/c: 34/61

x.range

upstream meme PSSM #1; e=1.5e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.4e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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16168

28191

51931

12655

13633

19089

25840

33088

34403

36828

39093

42481

44012
44109

44203

45802

45870

45981

46555

47097

47387

47663

47839

47952

48159

48223

48362

48711

49559

49600

50077

50235

50619

52750

string −500 −400 −300 −200 −100 −1
28191−0.07
13633−0.09
47097−0.09
50235−0.11
48223−0.16
49559−0.19
19089−0.29
47387−0.80
48362−0.86
48159−1.17
44109−1.18
16168−1.24
51931−1.25
45981−1.28
45802−1.35
12655−1.37
47952−1.77
44203−2.00
47839−2.00
46555−2.04
33088−2.10
49600−2.20
48711−2.44
52750−2.45
47663−2.48
50077−2.50
44012−2.63
45870−2.80
25840−2.94
50619−3.08
34403−4.01
36828−4.77
39093−4.94
42481−5.09

log10(P) upstream meme1 2 log10(P.clust)=−1.87; 34 seqs; 34 uniq
c(0.5, 2.5)
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